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for the questions

1. Choose the most appropriate answer of the
following : 1x8=8

(a) As per the Budgef 2015-16, by 2019,
corporate tax rate will be reduced to

(i) 40%
() 30%
(iii) 25%
(iv) 20%
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(F2) (3)

(b) The share of concess; 4 (e) As per the l4th Finance Commission
Ssional debt in the recommendation, States’ share in the

total
ysams ix;:mal debt of India over the centre’s divisible pool will be
() increaseq (i) 30-5%
(1) decreaseq (i) 32%
@ femain unchangeq (iii) 37°5%
(it) None of the aboye (iv) 42%
() In which pudget revenue always equals

(c) In th
e Uni
nion Budget 9 ‘ g

015-16, which of expenditure:

deficitg has be

(i) Fisca] deficit

en estimated (i) Annual budget
(ii) Long-term budget
(iit) Balanced budget

(iv) Government budget

hich of the following is not a part of

W
( (9) )
/ 30 Testore iha fiscal policy?

OllOWing A a dlSciph‘ne ; ) i d b]. . 5 A

s Cts wag , Which of theé (i) Subsidy under public. distribution
) D1 Passed in 20037 system

(ii) MODVAT (ii) Regulation of financial institutions
(i) FRB (iii) Imposition of taxation
(iv) MRTp (iv) Issue of bonds by the Government

P16/23¢
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( 4)

(h) The ChairperSO
Commission of

(l} A Kelka_r

@ Y. v, Reddy

(i) M. S. Ahluwaig
(v) A. Panagariy

5 O.f the 14th Finance
India was

S
d Se y’

e follOWl .
N8 quest;
tlons

(within 500 wo"

3. (a)
Discy
S8
‘cEiXati()n1 € Structyre 0
.deVEIOpin n d pattern of |
untrj |
®)  Writ o CH
€ a
stem, 8L ote o o
e

(5)

Write a brief note on the trend and
pattern of public expenditure in India.
Also assess the public expenditure

management system 1n India.
Or

\ 4. (9

Analyze the nature and magnitude of
public debt in India. Also discuss ho?v
the growing size of public debt 1s
adversely affecting Indian economy.

(b)

7+5=12

6+6=12

the core objecties of the Union
1015-16? State the major
f the Budget 2015-16.

Or

State the meaning of revenue deficit and
primary deficit. Discuss the main
features of programime and zero-based

budgeting.

What are
Budget
features 0

(b)

Examine the suitability of fiscal policy
for developing countries like India.

Or
Critically examine the fiscal reform

measures undertaken by the
Government of India since 1991.

(b)

SR A ey L oy

4+7=11

4+7=11
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(6)

(@) Discuss the principles followed in India
for resource devolution. Also comment
on the statement that “Union financial
devolution hag led to vertical and
horizontal fisca] imbalances in India”.

6+5‘11

(b) Discuss the maj

* k4
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